1. &% -8

1—1
1—2

1-3

1—4

EARE S
H1—2Fk
#1—3%
H1—4F
#1—5%
H1—63
H1—TF
#1—8%
#1—9%
H1—10%
H1—11%
H1—12%
H1—13%
H1—14F
#1—15%
H1—163%
H1—17F
F1—18%
H1—19%
H1—20%
EARPIES
1—22%k

Y R oTic )07 1 S———

B IE N AEE (akth)
Wik (GDP_—2R)

FAEPERAHE (GDP—2)
4 I E R P

4 H - FEEWNKRAEE (GDP) pliER

— N4 720 O EETS

JEE F A

TR T T 31 [ PR A v

EP#AEEORRE GO, 4 R/)
EINIRAEREORE K (CERER, 4 B)

] R ¢
PL TR PR

REWILSL « HHINEL

RPN E G (7 a—)

RAMER AR (7 u—)
BHEL—h

A REE TR 5
EE=E R A IEiE"o

L= AR
WIIAKYE (GDPAR— Z)  reeeerrerrssssssnnnnene

PSS 725 B OV B T Sl oo eeees
S5 B A EEVE K e

7R
R 2 0 95BN SR ()

BT @A (i)

2. A0-F@AAO

2—1

PR, KEER O EEH SO AR (PAAHER)

UNEE: YIRS

HENDE (655K EAD)

657% LA _b T 1 o> S48 ) =%

— 5 —

21
22
23
24
25
26
27
28
29
31
32
33
34
35
36
37
38
39
40
41
41
42
43
44
44
45

49
50
51
52



2—5
2—6
Ho—13%

#2—2%
#2—3%
Fo—4Fk
Fo—5HFk
FHo—6FK
Fo—T1FR
Fo—8FK

H2—9F
F2—10%
Ho—113
H2— 125
H2—13%
H2— 145
H2—153%
H2—163%

3. BRMEE

3—1
3—2

3—3

3—4

3—5

H3—1%
#3—2%
#3—3%
F3—4FK
3 —5%k
3 —6£
EREES
EREES
EREE

A i PR A 2P 5 18 ) 3

@AD

(BEE) HARORRHE A D
PN ER:LpIIE

EAEAND (I5REARmEAR)
AEPEFERA D (15~641% A 1)

HEND (655LA EAH)
PRI - AF R AR

HiZAESR - SEE SR -
S F A

(BER) FERAEMPIUIME EMEIZL D AARDFE b -

TS [R 27 TTTcE S—

F L F A N R

IR NI 7 D NI -1 (PAE - L ——

PR (15~645%)

PERI - AFIRBSEBIA D - A D - R

SAEAAA (A7)

95 H IO NETEAT ST SME A (27 ) e

AEANGBHAA (A by 2)

BRI D PEZERIHE Rk FL

k3 DIRZERIRE R L

WEFIH D D mZMEDEIE

EF DN EOHATRIRER L

EE I 2 EIER S E OFS

PEZEREHER $L
EEH D PEZERIRE R

PESERE M
PERI - TRt 3 £

b3 DOIEERIRE R L
TESE b o> ML J sk K

EZEHE T 0 2 BRI GBI DEI G eeveererssmmmmssssssmnnss e

B[R 78512 5 D K oElIE

TURT U= @EOE A

— 6 —

53
54
55
55
56
57
58
59
60
63
64
64
65
66
67
76
78
82
83
84

87
88
89
90
91
92
97
98
103
111
112

115
116



H3—10% PRI - FERERA T AR T U — S EEOFE 117

H3—11% T 5D 2 URIE ST EE OFEIG - 118
H3—12%k TEE R O eI 119
H3—13%& HAOE (18~245%) OBIKIZHT 252 H 120
H3— 143 TRZEATE 0 B BIIRF R & o hp 121
#3—15%& JERAIE - EAMAE 122
#3—163k NIRRT : 123
ERRVES T IRIE : 124
#3—18% RN BT BB S (ERERLR) 127

4 KX REXRR - ERAR

4—1 ILOEFR KR FEFE : - 131
4—2 RER (HBEAEM) 132
4-—3 RHIREEOEE 133
Ha—1Fk AR IR ~ 134
Hi4—2%% KER (HEHAKME) 135
#i4—3% AR RSB R B - MR 136
FA—4K AR AR I R R 139
H4—bHFk RHIREE OBIG : 140
#4—6F I EEMN R B R L : 141
HA—TF KEEDEH - 142
Ha—8F LR B B2 - 144

(BER) MHRAITR I IEARDTED s 148
Ha—9F KERBE T ZhaE : 150
H4—10%& JE TR wovvveeersssssssssnnnnee ~ 151
HA—11% JE A FHFEBN A« TR SCHR A JEE covvvvevvsmsmsmmmnnnnnnnns 152
Fa—12%k TR O TE 7 R BB -oeeeeeeeeeeeeeeeessnnnnenn 155
Ha—13% fiR VA - - 158

5. B - #BER

5—1 e 272 0 4 (BE3E) : 163
5—2 FBE A (UGS, AR L — M o 164
5—3 R PRI R ek e (iE¥) - 165
5—4 G A e (EZ) : 166
HE—1% e 272 0 H 4 (RE3E) . 167
Hb—2%k e () : ~ 168



H5—3%
HH—AF
H5—53%
H5—64
EH—TH
5 —8%
H5—9F
#5—103
HH—113
H5—123%
H5—13%%
H5—143%
H5—15%
H5—16%
HH—17%

H5— 185
H5— 195

PEERIE 4
FE Y 7= 0 RINE & OXAiE E &R (3UiEd)

TNEA DEBEANKIT B 8— b2 A DTHBE DL KA e

WA (RiE3)
S8 2% F C A T ERR 1

SrE A B (RGESE)
PESGTB#E ORF Y 720 A (ES)

BRI EE - ek E

TIE A DTV DO PRI T D B I BAR T e

R E Sk (IE3E)
YRERIE R E (RUEH)

BURR Eeks e (PEZER)

FHs 0 Y =425

£/\{V I'gkt_f.&w?,fzsj:%l
YRR R -

(BEF) BAOHIHIERER
A B A

RIKESEOHR

6. FT@ERE - 55 {E R R B

6—1
6—2

He—15%
H6—2%%
H6—3%
H6—43%
#6—5%
#6—6%

1. FEHEE -
7—1
7—2
HT—1%
HT—2F%
H1—3F%
T —4F

— N7 0 SERRE R S IR GR2EE)

el N =R
— N Y7o O SR R I Gl

TR (RLESE)
ERH @ OFA

GRLITINEE-4

IREDLR

FPBINER - ARG IRIERH L

HERER - FBKE

SR A R O HER

RS H 4K
SR A B - Mk (B EAKHED

SR AR (ILOTF—4% _—2R)

TR - SR SIMAR - R A

Jr WS H - TR A

— 8 —

170
171

172
173
173
174
175
175
176
177
178
178
179

- 179

179
180
186

189
190
191
193
194
195

-+ 196

197

207
208

210
211
213



BT—5%

I B I D R

8. HE - BiEXmAFR

8—1
He—1—15%
H8—1—2%
#8—1—3%
H8—1—4%
#8—1—5%
#8—1—6%
He—2—1%
He—2—2%k
H8—2—3F
H8—2—4F
H8—2—5F
H8—2—6%
He—2—TFH
#8—2—8%
#8—3%

8 —4F

#8—5F

A B ~ DR

B ERB DR « 1A

BB ~OEER . T A

EEBE BB~ DR . A Y 2
EEHBRE~OMERER . R

EEBERE~OWEFE . 7T R

B BE BB ~ 1R - R E

A AR DR

T AV I ORI
A F U ZADFR R

RA Y ORI

A N i ] B R

0 LT DERRHEK

T E O ARRHE

i [E] D ZEHBGR X
AT B U 72 FE AR BOE R OS2l

FED X U T TR OIS %
7R RBLUT & B T 2 MR

9. B}IEHE - B

9—1
HI—15%
H9—2—15%
H9—2—2F
H9—3—1%
H9—3—2%
H9—3—3%
H9—3—4F
H9—4aFk
H9—5F
HI—65%
HO—TFH
H9—8F

FRHHE S OHERK

Fab - MEFHRMIEEFIEAR (NPISH) OSZBUE SCEAORERL

EER— A7 0 HABIENZ A THE S H

ENF A S DR EE

AL ORI AHA R O (HA) o

AT EOFEEFERBIRFINAKR O (7 AV 7,
AT EOFEEFERBIRFINAKR O (%Y X,

éﬂ_—t%) ........

éﬂ_—t%) ........

AT EOEEFERBIFFINAR O (R fiby) e

S - R HIHRIT (NPISH) 0GRt ER A

NS GfGDPEL) KOV DNER
e tRiERA AT GotE RT3 )

ERAHER CERFTS*)
GDPIZ (58 2 5@ i S BUR ~D 3 H

— 9 —

215

219

221
222
223
223
224
224
225
226
227
228
229
230
231
232
233
240

245
246
247
248
249
250
251
252
253
254
255
255
256



I—9RK NI i - e 957

FI— 105 A A R 259
FHI—11% R O A TS 261
Ho—12% NPER B 262
H9—13% B RS 264
H9— 145 BT T BREIIIAE (BT YLE) s 267
%97152% 1'%:5‘3‘** B - ?j}?ﬁﬁlj%%rﬁ]”é L‘%’_‘j}’@%{@%ﬁ% ................................... 269
HI—163 Wi 2 T R R OR : 270
FHI—17F — B Y7 0 TR R ALY 272
#9—18% AiE - 4R - bk : 273
H9—19—1F AIGRER (EBUEAE) : 274
H9—19—2F ARG GEEREMHE) : 275
HF9—19—3% ARk CEBUEHZE - IFEHEHRERD - 276
HI—20% B N = = (@ | ) 277
5%
%@%%‘%Eg#% eteeeeeeeee—ee e —ee e —e e e tee st e et e e e e e s bt e e bt e e e e e e bae et ee e baeenareeenraen 281
T TN I 1T DA AR RS 5 Ml e HERT : 286






